2004 2005 2006
7 -
210,000 215,000 220,000
55% 60% 65%
1 1 1 4
180,000 190,000 200,000
7 -
7 6 6
6 5 3




3,770,303 3,721,958 48,345
686,094 816,564 130,470
7 686,094 816,564 130,470
7- 34,797 36,472 1,675
5,512 5,187 325
(3110-3113-120-201-01)
- 3,000 * 500 = 1,500
- 35,000 * 5 = 175
15,000 * 46 = 690
(50,000 * 3 *2 ) + (20,000 * 3 *2 420
(3110-3113-120-301-09)
(=427)
10,000 * 2 *3 = 60
18,000 * 2 *3 = 108
25,000 * 1 *3 = 75
30,600 * 2 *3 = 184
(3110-3113-120-301-11)
50,000 * 46 2,300
23,885 25,885 2,000
(3110-3113-120-201-01)
- 12,500 * 400 = 5,000
- 2,000 * 1,000 = 2,000
70,000 * 15 * 6 = 6,300
(3110-3113-120-202-01)
49,900 * 4 *4 *5 3,992
49,900 * 4 *3 *6 3,593




)
(3110-3113-120-203-03)
1,000
2,000
5,400 5,400 0
(3110-3113-120-201-01)
5,000 * 10 *5 *6 1,500
5,000 * 10 * 4 * 12 2,400
5,000 * 10 *5 *6 = 1,500
7- 651,297 780,002 128,795
71,868 42,868 29,000
(3110-3113-110-101-10)
(=11,040)
34,500 * 2 * 20 *8 = 11,040
(3110-3113-220-206-00)
(=5,148)
29 25,000 * 29 * 2 = 1,450
9 60,900 * 10 * 2 = 1,218
5 40,000 * 50 = 2,000
1,200 * 400 = 480
(=20,000)
19 100,000 * 20 = 2,000
(=10,000)
- (KVCN) 7,500,000 * 1 = 7,500
- (ACB) 2,500,000 * 1 = 2,500
3,000,000 * 1 = 3,000
500,000 * 10 = 5,000




(=2,000)
, 20 = 2,000

(=3,700)
59 25,000 * 24 = 600
5 7,000 * 50 *2 = 700
UPS 120,000 * 20 = 2,400

(=7,360)
20,000 *6 *8 = 960
8,000 * 50 = 400
6,000 * 500 = 3,000
( , ) 10,000 * 200 = 2,000
( ) 50,000 * 20 = 1,000
(=3,420)
2,500 *6 *15 * 12 = 2,700
8,000 *6 *12 = 576
200*6 * 10 *12 = 144
10,000 * 160e* 12 = 19,200
291,339 457,400 166,061
(3110-3113-220-401-01)
(=4,290)
930,000 * 3 = 2,790
1 = 1,500
1,607 * 24,890 = 39,999
= 20,000
= 30,000
(=189,000)

(16 ) = 82,000
(6set) = 30,000




)
= 11,500
= 33,500
(27m) = 32,000
(3110-3113-220-405-01)
(30 , 1) 450
300,000 * 2 600
@) 7,000
288,090 279,824 8,266
(3110-3113-110-101-09)
6 ) 6 ) (=260, 481)

28,630 * 12 * 300 = 103,068
103,068,000 * 4/12 = 34,356
103,068,000 * 10% = 10,307
42,050 * 12 * 12 = 6,185
28,630 * 12 * 13 = 4,467
28,630 * 12 * 65 = 22,332
14,320 * 6 * 1/3 * 300 = 8,592
42,950 * 12 * 15 = 7,731
5,370 * 30 * 12 *12 = 23,199
103,068,000 * 1.5/12 = 12,884
120,000 * 12 * 12 = 17,280
70,000 * 12 * 12 = 10,080

(=20,661)
260,481,000 * 4.5% = 11,722
260,481,000 * 1.5% = 3,908
260,481,000 * 0.6% = 1,563

(=3,468)

- (=1,500)




100,000 * = 600
150,000 * 6 = 900
- (=1,968)

100,000 * 6 = 600
150,000 * 6 = 900
23,000 * 6 = 138
15,000 * 6 = 90
20,000 * 6 = 120
10,000 * 6 *2 = 120

(3110-3113-120-301-08)

G ) (=6,948)
35,810 * 3 * 12 = 1,290
100,000 * 3 * 12 = 3,600
45,000 * 3 * 12 = 1,620
( , , , ) 146,000 * 3 = 438
3,084,209 2,905,394 178,815
(3110-3113-110-101-01)
(=491,169)

-4 2,369,300 * 1 * 12 * 1.024 = 29,114
-5 2,131,600 * 2 * 12 * 1.024 = 52,387
-6 1,799,700 * 5 * 12 * 1.024 = 110,574
-7 1,410,200 * 10 * 12 * 1.024 = 173,286
-8 1,134,700 * 6 * 12 * 1.024 = 83,660
10 686,000 * 5 * 12 * 1.024 = 42,148
491,169,000 * 2/12 = 81,862
491,169,000 * 2/12 = 81,862

(3110-3113-120-201-01)
= 1,000




)
(=10,000)
300 * 1,000 *5 = 1,500
110 * 27,272 = 3,000
( 3) 30,000 * 12 = 360
(=900)
- 10,000 * 20 = 200
- 35,000 * 5 = 175
- 35,000 * 5 = 175
- 35,000 * 5 = 175
(=2,604)
- (AD) 16,390 * 20 * 4 = 1,312
- (A3) 44,000 * 10 * = 440
- (B4) 24,370 * 10 *1 = 244
- 38,000 * 8 * 2 = 608
-FAX 88,000 * 3 = 264
CD (=1,010)
-3.5" 5,000 * 6 = 30
- CD-R 10,000 * 10 = 100
— CD-RW 20,000 * 4 = 80
—DAT Tape 20,000 * 40 = 800
(=3,830)
- 300,000 * 4 *3 = 3,600
- ) 46,000 * 5 = 230
(=5,067)

- (=1,776)

= 1,684

92




~

(12,000 * 4

(=7,310)

)
) (=6,862)

(=12,869)

( )

7

529,000 * 1

,000  * 32

* 2

1,796,800 * 2
934,000 * 2
700,000 * 2

1,118,480 * 10
40,390 * 10

20,000 * 64t

82 * 73,250

* 2

100,000 * 2

* 12 ) + (10,000 * 2 * 2

(3110-3113-120-201-01)

(3110-3113-110-101-02)
(=75,780)

o N O O

10
(=18, 445)

8,506 * 2
7,216 * 5
6,475 * 10
5,802 * 6
4,708 * 5

* 35
* 35
* 35
* 35

400,000 * 1
400,000 * 1

* 12

*1
*1

1.024
1.024
1.024
1.024
1.024

*12 ) =

2,762
529

448

3,594
1,868
1,400

11,185
404
1,280
12,013
200

1,056
6,681

400
400

7,317
15,518
27,848
14,972
10,125




30,000 * 29 * 0.78 * 12 = 8,144
20,000 * 29 * 1.48 * 12 = 10,301
(=7,672)
46,500 * 29 * 0.20 * 4 = 1,079
355,200 * 29 * 0.16 * 4 = 6,593
(=27,000)
130,000 * 6 * 12 = 9,360
25 110,000 * 4 * 12 = 5,280
20 80,000 * 6 * 12 = 5,760
15 60,000 * 5 * 12 = 3,600
10 50,000 * 5 * 12 = 3,000
400,000 * 1 * 12 = 4,800
(=1,560)
40,000 * 1 * 12 = 480
30,000 * 3 * 12 = 1,080
50,000 * 1 * 12 = 600
245,161,000 * 6% * 1.024 = 15,063
29,114,000 * 11% = 3,203
(=2,220)
25,000 * 1 * 12 = 300
7 15,000 * 10 * 12 = 1,800
10,000 * 1 * 12 = 120
1,2 ) 30,000 * 4 * 12 = 1,440
(=780)
30,000 * 1 * 12 = 360
15,000 * 1 * 12 = 180
10,000 * 1 * 12 = 120

10,000 * 1 * 12 = 120




(3110-3113-120-201-01)
(=1,398)

(:

153,444)

40,000 * 1 * 12
50,000 * 1 * 12
34,000 * 1 * 12

210 * 200 * 12
1490 * 50 * 12
45,000 * 10 * 12
30,000 * 1 * 12

- ((1,450 * 5,500t) + (94.9 * 5,500t)) * 12

(=405)

(=291)

780 * 5,500t * 12

130,000 * 1
230,000 * 1
45,000 * 1
201,000 * 1

(140 * 1,500cc) * 90% * 130%

(=26,289)

(=732)
(=160)

(34,500 * 1 ) * 130%

200 * 60,000 * 2
6 * 180,000€* 2

100,000 * 1

480
600
408

504
894
5,400
360

101,964
51,480

130
230

45
201

246
45
2,018

24,000

2,160
129

100




-10-

)
60,000 * 1 60
- (=138)

69,000 * 1 69
69,000 * 1 69

- ( ) (=84)
36,000 * 1 *1 = 36
48,000 * 1 * 1 48
- 20,000 * 1 *1 = 20
- 66,000 * 1 *2 = 132
- 66,000 * 3 *1 = 198
-CATV 17,000 * 4 * 12 = 816

(=2,343)
- 22,000 * 1 *1 = 22
- 90,000 * 1 *1 = 90
- 185,900 * 1 * 12 = 2,231
55,000,000 * 12 = 660,000
33,000 * 1 = 33
3,000 * 12 * 4 = 144
10,000 * 12 = 120
(512Kbps) 600,000 * 1 * 12 = 7,200
= 3,000
(3110-3113-110-101-08)
(=500, 980)
1,347,900 * 16 * 12 * 1.024 = 265,008
265,008,000 * 2/12 = 44,168
265,008,000 * 2/12 = 44,168
(=116,425)

- 5,506 * 67  * 16 * 12 * 1.024 = 72,530




- 14,680 * 16 * 365 * 1/2 * 1.024 =

(=10,177)
- 30,000 * 16 * 0.78 * 12
- : 20,000 * 16 * 1.48 * 12
(=4,234)
- 46,500 * 16 * 0.20 * 4
- 355,200 * 16 * 0.16 * 4
(=600)
- 20,000 * 1 * 12
- 10,000 * 3 * 12
(=16,200)
20 25 110,000 * 4  * 12
-15 20 80,000 * 10 * 12
-10 15 60,000 * 1 * 12
-5 10 50,000 * 1 * 12
(3110-3113-120-201-01)
(=2,865)
- ) 150,000 * 16
- 50,000 * 7
- 23,000 * 5
(3110-3113-120-201-01)
5,000 * 26 * 6 * 12
(3110-3113-120-201-01)
(=35,935)

- 532.08 * 9,620 *4 * 1.1
- 316.87 * 9,620 *4 * 1.1

(3110-3113-120-201-01)
(=14,140)

43,895

4,493
5,684

596

3,638

240
360

5,280
9,600

720
600

2,400

350
115

9,360

22,522
13,413




-12-

)
30,000 * 1 * 102 = 3,060
) 30,000 * 1 * 352 = 10,560
) 40,000 * 1 * 13 = 520
1,017 * 74,772 = 76,044
1,088,500,000 * 5% = 54,425
@) = 5,000
(=9,000)
1,500,000 * 2 * 1 = 3,000
1,500,000 * 4 *1 = 6,000
130 * 38,460 = 5,000
= 3,497
a) 1,000,000 * 2 * 5 = 10,000
(=2,000)
, = 2,000
( ) (=6,160)
70,000 * 60 = 4,200
UPS 70,000 * 10 = 700
70,000 * 10 = 700
70,000 * 8 = 560
50,000 * 88 * 1 = 4,400
@) = 114
(=7,728)
(PC, ) 37,125,000 * 8% = 2,970
59,467,000 * 8% = 4,758
(=4,842)
12,000,000 * 15% * 1.1 = 1,980
( ) 12,640,000 * 15% * 1.1 = 2,086
4,697,000 * 15% * 1.1 = 776




(3110-3113-120-201-01)

(3110-3113-120-203-01)
“ )
(3110-3113-120-202-01)

(3110-3113-120-203-02)

(3110-3113-120-203-04)

(3110-3113-120-204-01)
(=7,200)

“ )

G )
(3110-3113-120-204-02)
(=70,320)

~N oo o1 b~

(=8,397)

178,101,000 * 3%

500,000 * 1

20,000 * 5

300 * 26
1,120,000/4
50,000 * 0.12

*2

* 365
* 12
* 365

1,390 * 170e* 12
980 * 240€* 12

10,000 * 26 *8 * 12
30,000 * 29

200,000 * 2 * 12
400,000 * 1 * 12
100,000 * 2 * 12
400,000 * 1 * 12
250,000 * 2 * 12
155,000 * 5 * 12
140,000 * 10 * 12

5,344
500
200

2,847
3,360

2,190

2,836
2,823

3,000

24,960

870

4,800

4,800
2,400

4,800
6,000
9,300
16,800

-13-




-14-

)
-8 105,000 * 6 * 12 = 7,560
10 95,000 * 5 * 12 = 5,700
105,000 * 16 * 12 = 20,160

(3110-3113-120-204-03)
( ) 50,000 * 42 * 12 = 25,200

(3110-3113-110-101-03)
130,000 * 29 * 12 = 45,240
130,000 * 16 * 12 = 24,960

(3110-3113-110-101-04)

(=44,280)

4 5 140,000 * 3 * 12 = 5,040
130,000 * 15 * 12 = 23,400
-8 120,000 * 11 * 12 = 15,840
120,000 * 16 * 12 = 23,040

(3110-3113-110-101-05)
491,169,000 * 1.5/12 = 61,397
265,008,000 * 1.5/12 = 33,126

(3110-3113-110-101-06)
491,169,000 * 2.5/12 = 102,327
265,008,000 * 2.5/12 = 55,210

(3110-3113-110-101-07)
491,169,000 * 18/288 = 30,699
265,008,000 * 18/288 = 16,563




